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Instructions to tkccdndtdatvs 0
1) Al W‘!‘tmm “are compulsory. , 7S
2)  Draw neat Iabelled diagram wherever necessary. K

Q1) a)  Describe different tools used for data warchouse de

by Differentiate ER modelling Vs, l)i{&éSi‘*lla}llitKi%
OR-

¢) Whatis OLAP? Explam difigredt opes sl OLAP I5]

d) Discuss components of da&.n wan thuum |5]

Q m BT (5]

02) a)  Whatare the ditferent cle

b) o pt hierarchy generation steps in ETL. (5]
OR
¢) & reduction methods i detail |5}
dy o Calegor Riracuon methods . {51
(3) hat Y atamining” Discuss architecture u!‘U;..r'ras;rf{zzmg,?with neat diagram.
51
i Detine Text mining and discuss [EXT MIIRE process. (5]
OR
b Write a short note on wih contest mimng.;, | lS'
| <3'§ Frlist the steps used 18 predictive modelling. 15
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CioApphe NB classiier on bu,‘\l%i\fk ILL\,‘&. gIven mstance. |5}
S No, AL \ Traffic

W eather o \cowdent

Condition =+ (§ Problem

] Ram " Q hugh yes
2 SHOW CSwffverage normal Ve

bad llgh( ny -
good hight N 3\6.&"
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m' i dca_ll" ; bad A bigﬁ Ve
instance
[Weather condimion - “Clear”, vehieal canidition — bad”,
Fraftie condimon = “hight”, Accident = “,'i
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d)

05) a)

b)

d)

Wri . o
cl;;t?fthe'algomhm for decision tree. Generate a Decision tree for
I sification of loan approval or rgj\ection. Consider the below attributes.

) age, 2) Income group, 3) CIEﬁ‘J'Score 5]

[
"\

Divide the data intehigh &nlé‘"w income group using k-mean clustering. [5]
D = (20k, 25112%1%, 234?@3'0& 35k, 65k, 80k, 70k, 90k, 100k, 92k, 94k,
96k, 7%% ) 65}@ 35k, 25k, 32k)
. Y Ly
Write a no@}f Hﬁié'ﬁ}?chical clustering. [5]

v/

% & OR 0

% ™)
Gwoﬁ? d%%ét of age of people. Form K = 2. Clusters. 5]
D= (20, 95715, 35,42, 41,30, 56. 61,62. 75,80, 72, 75. 85, @

3578) 2
Explaﬁ}jﬂi'metadata collection strategies. Q [5]
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